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u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const

u(x, t) = F1(x, t), (x, t) ∈ ∂Ω× (0, T ], u(x, 0) = F2(x), x ∈ Ω
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�� u
(β)
t �� ��� ����� β ∈ (0, 1) ���

F � F1� F2 ���� ���
�� �� �������
��� ���
�
��� D′�

0�� ���$�, ���
�
���� ���
���
��� �������
��� ���
�
��� �������� �����
�������� ����� ��
�������
�
���

�� ������	
����� 	
� �
�����
�� 
� ��������� �
��������� 
� �
� ���� �
������ �����
��
���� �
 ������
�

Dβ
t u(x, t)− a2Δu(x, t) = F (x, t), a = const

�� �
����� �
���� Ω× (0, T ]�  ��
 ��!������! ����������

Dβ
t u(x, t) =

1
Γ(1−β)

(
∂
∂t

t∫
0

u(x,τ)
(t−τ)β dτ − u(x,0)

tβ

)


� �
� 
���� β ∈ (0; 1)� ����� 
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Dβ
t u(x, t) = A(x,D)u(x, t), (x, t) ∈ RN × [0, T ],

u(x, 0) = g1(x), x ∈ R
N
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 ��
 �
�����
�� ������
� g1 
����! �
�� !�
 �
 �� �������� �������� ��5�������� ���
��

���� 
�����
� A(x,D)  ��
 ��

�
 �
�6������ ��������! 
� ����� ��������� x ∈ Rn�
.��
 ��!������! ������
��� ����������  �� ���� �� �
� ���

�� 
� %�&/%�7& ��� �
� 
�
����
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��� 4���
� ��
���� �� �
� ���� β > 1 ���
A(x,D) = Δ  �� �
��������� �� %�&� 	
� ������������
�� �� ����� 
� 3���� ������
�� 
�
�
� �
����
�  �� 
�������� 8� %��& ��� %�,& �
� ������ �
��������� 
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� ������
��� 4���
�
��
����  ��
 !���� ���� 9 ��
 �� ���������! !�������:�� ������
�� ��� ��
�  ��!
� ������

� !�������:�� ������
��� �������������  �� ��������
���
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���� �
 ������
�

u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const,

 ��
 <������/"�
������ ������
��� ���������� u
(β)
t 
� �
� 
���� β ∈ (0, 1)� �� ������ 
�

!�������:�� ������
�� 
� ���� D′� 	
�� ����� �� 
�!���:�� �� �
��
 �� 	
� ���� ��!���/
������ ��� ������
�
!� ��� !���� �� �����
� ,� ;� ����� �
� ��
���� �� �����
� 0� 	
 ��
��
�
� ���� ������ =�� �����
� �>  � ����� �
� ��
������� 
� �
�?�!���� 3���� 
�����
�� ��
�����
� 1� ;� ����
 �
�� �����  ��
 �
�� �����#� �� �����
� @ ��� ������
� 
� �
��
��������� ��
������� 
� �
� A/������
� 
� -
2 �� �����
� ��

�� 
	������� ������
��
��� "�� Ω �� �
������ �
���� �� RN � N = 2, 3, . . . �
S = ∂Ω 9 �
� �
������ 
� �
���� Ω =
� ����� C∞>� QT = Ω× (0, T ]� Q1T = S × (0, T ]�

D(Q̄T ) = C∞,(0)(Q̄T ) = {ϕ ∈ C∞(Q̄T ) : D
l
tϕ|t=T = 0, l = 0, 1, 2, . . .}�

D(Q̄1T ) = C∞,(0)(Q̄1T ) = {ϕ ∈ C∞(Q̄1T ) : D
l
tϕ|t=T = 0, l = 0, 1, 2, . . .}�

D(RN ) = C∞
0 (RN ) 9 �
� ����� 
� ����������� ��5���������� ������
��  ��
 �
�����

����
��� �� RN �
D(Ω̄) = C∞(Ω̄)�
D′(RN )� D′(Ω̄)� D′(Q̄T ) ��� D′(Q̄1T ) 9 �
� ������ 
� ������ �
�����
�� ������
����

=!�������:�� ������
��> 
� D(RN )� D(Ω̄)� D(Q̄T ) ��� D(Q̄1T )� �������������
(f, ϕ) 9 �
� ����� 
� f ∈ D′(RN ) 
��
 �
� ����� ������
� ϕ ∈ D(RN )�
(f, ϕ)0 9 �
� ����� 
� f ∈ D′(Q̄T ) 
��
 �
� ����� ������
� ϕ ∈ D(Q̄T )�
(f, ϕ)1 9 �
� ����� 
� f ∈ D′(Q̄1T ) 
��
 �
� ����� ������
� ϕ ∈ D(Q̄1T )�
(f, ϕ)2 9 �
� ����� 
� f ∈ D′(Ω̄) 
��
 �
� ����� ������
� ϕ ∈ D(Ω̄)�
;� ���
�� �� ∗̂ �
� 
������
� 
� �
��
����
� 
� !�������:�� ������
� g ��� �����

������
� ϕB (g∗̂ϕ)(x) = (g(ξ), ϕ(x + ξ)), ��� �� ∗ 9 �
� 
������
� 
� �
��
����
� 
�
!�������:�� ������
�� f ��� g 9 �
� !�������:�� ������
� f ∗ gB (f ∗ g, ϕ) = (f, g∗̂ϕ) �
�
��� ����� ������
� ϕ� ;� ��� �
� ������
� fλ ∈ D′

+(R) = {f ∈ D′(R) : f = 0 CDE t < 0}B
fλ(t) =

θ(t)tλ−1

Γ(λ) �
� λ > 0 ��� fλ(t) = f ′
1+λ(t) �
� λ � 0,

 
��� θ(t)9 A�������� ������
�� Γ(λ)9 3����/������
�� 	
� ������
�

u
(β)
t = f−β ∗ u

�� ������ �
� <������/"�
����� ���������� 
� �
� 
���� β 
� �
� ������
� u ∈ D′
+(R)� 8� �
�

��!������! ���������� Dβu(t) �2���� �
��

Dβu(t) = u(β)u(t)− f1−β(t)u(0).

	
� ������
�� ����� ��

fλ ∗ fμ = fλ+μ� fλ∗̂fμ = fλ+μ�
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������ ���	
���

��� ������ ���	
���

�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

��� �
� (x, t) ∈ QT � v ∈ D(Q̄T )� β ∈ (0; 1)

f−β(t)∗̂v(x, t) = f ′
1−β(t)∗̂v(x, t) = −f1−β(t)∗̂vt(x, t) = − 1

Γ(1−β)
∂
∂t

T∫
t

v(x,η)
(η−t)β dη�

;� ���
�� �� C2,β(QT ) �
� ����� 
� ���������� � ��� �
�����
���� ��5����������
�� ��������� x ������
�� v(x, t)� (x, t) ∈ Q̄T � �����
��! �� t ≥ T ���  ��
 �
�����
��

Dβ
t v(x, t) �� QT �
;� ����
���� �
� 
�����
��

L̂ : (L̂v)(x, t) ≡ f−β(t)∗̂v(x, t) − a2Δv(x, t), (x, t) ∈ QT , v ∈ D(Q̄T )�

L : (Lv)(x, t) ≡ f−β(t) ∗ v(x, t) − a2Δv(x, t), (x, t) ∈ QT , v ∈ D′(Q̄T ),

Lreg : (Lregv)(x, t) ≡ Dβ
t v(x, t) − a2Δv(x, t), (x, t) ∈ QT , v ∈ C2,β(QT )�

�
� ������
��� �����

X(Q̄T ) = {ϕ ∈ C∞,(0)(Q̄T ) : L̂ϕ ∈ D(Q̄T ), ϕ|Q̄1T
= 0}

 
��
 �
�� �
� ����� =��� �
��
 ��! ����� 0> ��� X ′(Q̄T ) 9 �
� ����� 
� ������ �
���/
��
�� ������
���� 
� X(Q̄T )� ���
�� �� (f, ϕ)0 �
� ����� 
� f ∈ X ′(Q̄T ) 
��
 ϕ ∈ X(Q̄T )�

�� ��������� ����������
�	��������� ��� "�� β ∈ (0, 1)� F ∈ X ′(Q̄T )� F1 ∈ D′(Q̄1T )� F2 ∈ D′(Ω̄)�

F���� ����
����
� =">  � ����� �
� ��
����

f−β(t) ∗ u(x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ QT , =�>

u(x, t) = F1(x, t), (x, t) ∈ Q1T , u(x, 0) = F2(x), x ∈ Ω. =,>

!�������� �� 5*+ (3$1)
'$ u ∈ D′(Q̄T ) #2)
#(%
$6 )*+ +7328
)%

(u, L̂ψ)0 = (F, ψ)0 + (F1,
∂ψ

∂ν
)1 + (F2,

T∫
0

f1−β(t)ψ(·, t)dt)2 ∀ψ ∈ X(Q̄T ) =0>


# 1288+9 )*+ #'83)
'$ '( )*+ :/';8+< =�>? =�>� @+/+ ν(x) = (ν1(x), . . . , νN (x)) ! )*+ 3$
)+
-+1)'/ '( )*+ 
$$+/ $'/<28 )' )*+ #3/(21+ S 2) )*+ :'
$) x ∈ S�

(
�� �
�� �
� u ∈ C2,β(QT )� ψ ∈ X(Q̄T ) �
� 3���� �
�����∫
QT

u(x, t)(L̂ψ)(x, t)dxdt =

∫
QT

(Lregu)(x, t)ψ(x, t)dxdt+ =1>

+a2
T∫
0

dt
∫
S

u(x, t)∂ψ(x,t)∂ν dS +
∫
Ω

u(x, 0)dx
T∫
0

f1−β(t)ψ(x, t)dt



���� ;� ��� ��
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� �
�����
����! �
����� �� %��&�
;� ��� �
������ �
� ��
���� =�>� =,> �� �
� !�������:���
� 
� �
� ��
����

(Lregu)(x, t) = g0(x, t), (x, t) ∈ QT =�>

u(x, t) = g1(x, t), (x, t) ∈ Q1T , u(x, 0) = g2(x), x ∈ Ω =@>
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !$

 ��
 ��!���� ���� g0� g1� g2� 8� 
������ ��
� �
��
 ��! �
�
��� � �
�� ����� ���
�� ��!����
!���� ������
�� F = g0� F1 = g1� F2 = g2 �
� �
����
�� 
� �
� ��
����� =�>� =,> ��� =�>�
=@> �
�������

"� #���� $�
���%&	�
�����

!�������� �� 5*+ -+1)'/�(3$1)
'$ (G0(x, t), G1(x, t), G2(x, t)) #31* )*2) 3$9+/ /2)*+/
/+6382/ (3$1)
'$# g0? g1? g2 )*+ (3$1)
'$

u(x, t) =

t∫
0

dτ

∫
Rn

G0(x − y, t− τ)g0(y, τ)dy+ =�>

+

∫
Q1t

G1(x− y, t− τ)g1(y, τ)dSdτ +

∫
Ω

G2(x− y, t)g2(y)dy, (x, t) ∈ QT


# )*+ 182##
128 ='( 182## C2,β(QT )> #'83)
'$ '( )*+ :/';8+< =A>? =B> 
# 1288+9 )*+ C/++$
-+1)'/�(3$1)
'$ '( )*+ :/';8+< =�>? =�> =2# D+88 2# '( )*+ :/';8+< =A>? =B>>�

8� �
��
 � ��
� �
� �������
� , �
��

(LG0)(x, t) = δ(x, t), (x, t) ∈ QT  
��� δ 9 �����/������
� 
� G�����

(LregG1)(x, t) = 0, (x, t) ∈ QT , G1(x, t) = δ(x, t), (x, t) ∈ Q1T ,

(LregG2)(x, t) = 0, (x, t) ∈ QT , G2(x, 0) = δ(x), x ∈ Ω.

8� %0&� %1& �
� ��
������� 
� �
� 3���� 
�����
�� 
� C2,β(R
N × (0, T ])  ��� ��������

;� ����� �
� �
�?�!���� 3���� 
�����
��

(Ĝ0ϕ)(y, τ) =
T∫
τ

dt
∫
Ω

G0(x− y, t− τ)ϕ(x, t)dx�

(Ĝ1ϕ)(y, τ) =
T∫
τ

dt
∫
Ω

G1(x− y, t− τ)ϕ(x, t)dx�

(Ĝ2ϕ)(y) =
T∫
0

dt
∫
Ω

G2(x − y, t)ϕ(x, t)dxdt� ϕ ∈ D(Q̄T )

�� ���

�� 
� �
�  
�#� %1&� %�0&� %��&�

����� �� E'/ 288 ψ ∈ X(Q̄T )

(Ĝ0(L̂ψ))(y, τ) = ψ(y, t), (y, t) ∈ Q̄T , =H>

(Ĝ1(L̂ψ))(y, τ) =
∂ψ(y, t)

∂ν
, (y, t) ∈ Q̄1T , =�>

(Ĝ2(L̂ψ))(y) =

T∫
0

f1−β(t)ψ(y, t)dt, y ∈ Ω. =�7>
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��� ������ ���	
���

�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

������ 8�  � ���������� �
� �
����
� =�> 
� �
� ��������� ���� �
������ ����� ��
���� =�>�
=@> ���
 �
� �
����� =1>� �
�� �
� ��� ψ ∈ X(Q̄T )  � 
�����

∫
QT

( t∫
0

dτ
∫
Ω

G0(x− y, t− τ)g0(y, τ)dy
)
(L̂ψ)(x, t)dxdt+

∫
QT

( t∫
0

dτ
∫
S

G1(x− y, t− τ)g1(y, τ)dS
)
(L̂ψ)(x, t)dxdt+

+
∫
QT

( ∫
Ω

G2(x− y, t)g2(y)dy
)
(L̂ψ)(x, t)dxdt =

=
∫
QT

g0(x, t)ψ(x, t)dxdt +
∫
Q1T

g1(x, t)
∂ψ(x,t)
∂ν dSdt+

+
∫
QT

g2(x)f1−β(t)ψ(x, t)dxdt�

�
�� ��
∫
QT

( T∫
τ

dt
∫
Ω

G0(x− y, t− τ)(L̂ψ)(x, t)dx
)
g0(y, τ)dydτ+

+
∫
Q1T

( T∫
τ

dt
∫
Ω

G1(x− y, t− τ)(L̂ψ)(x, t)dx
)
g1(y, τ)dSdτ+

+
∫
Ω

( ∫
QT

G2(x− y, t)(L̂ψ)(x, t)dxdt
)
g2(y)dy =

=
∫
QT

g0(x, t)ψ(x, t)dxdt +
∫
Q1T

g1(x, t)
∂ψ(x,t)
∂ν dSdt+

+
∫
QT

g2(x)f1−β(t)ψ(x, t)dxdt�

	
� �
��������� 
� �
� ����� �
��
 � ��
� �
� ������������� 
� g0, g1, g2 �

����� �� 02::
$6 Ĝ0 21)#F D(Q̄T ) → C∞,(0)(Q̄T )�

������ 8� �
��
 � ��
� �
� ������� 
� %�1& �
�� �
� ����������� ������
� G(x, t) 
� �
�

�����
� L �� !���� ��

G(x, t) =
π−N/2tβ−1

|x|N H2,1
2,3

( |x|2
4a2tβ

∣∣∣(1, 1) (β, β)
(1, 1) (N/2, 1) (1, 1)

)
, =��>

 
��� Hm,n
p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
:= H(z) �� �
� A/������
� 
� -
2 %��&�

I� ��
����� =I> =�� ������
�> 
� �
� H/������
�  � �������� �
� �2������
� =��> ���
!�� �
� ������������
�

G(x, t) =
π−N/2tβ−1

|x|N H2,0
1,2

( |x|2
4a2tβ

∣∣∣(β, β)
(1, 1) (N/2, 1)

)
. =�,>

;� ��� �
��
 ��! ��!��������� �
� Hm,n
p,q B

Δ∗ =
∑q

i=1 βi −
∑p

i=1 αi�

a∗ =
∑n

i=1 αi −
∑p

i=n+1 αi +
∑m
i=1 βi −

∑q
i=m+1 βi�

.���� Δ∗ = 2 − β� �� �
��
 � ��
� �
�
��� ��� %��& �
�� ������
� G(x, t) �2���� �
�
��� x �= 0� t > 0 =Δ∗ �= 0>�
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���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� !&

F���! ��
����� =)> =�� ������
�> 
� �
� A/������
�  � ���

dG(x, t)

d|x| =
∂G(|x|, t)
∂|x| = −π

−N/2tβ−1

|x|N+1
H3,0

2,3

( |x|2
4a2tβ

∣∣∣ (β, β) (N, 2)
(N + 1, 2) (1, 1) (N/2, 1)

)
,

 
����

∂G(x, t)

∂ν
= −π

−N/2tβ−1

|x|N+1
H3,0

2,3

( |x|2
4a2tβ

(β, β) (N, 2)
(N + 1, 2) (1, 1) (N/2, 1)

) N∑
j=1

xjνj(x)

|x| , =�0>

x ∈ S� .���� Δ∗ = 2 − β� �� �
��
 � ��
� �
�
��� ��� %��& �
�� ������
� ∂G̃0(x,t)
∂ν �2����

�
� ��� x �= 0� t > 0�
J� �� %0&� %1& 
�� ��� ��
�� �� "��� ���

� �
�� �
� ������
�� G0 ��� G =��� ���

�����������> 
��� ����� �
������� 
� ���!����������
"�� γ = (γ1, . . . , γN ) =γj ∈ Z+� j = 1, . . . , N> �� �����/����2� |γ| = γ1 + · · ·+ γN �

Dγ
x = Dγ = ( ∂∂x )

γ = ∂|γ|

∂x
γ1
1 ...∂x

γN
N

�

I������ �
�� G(x, t) = G(|x|, t) =��� �
����
��� ( ∂∂x )γG(x−y, t) = (− ∂
∂y )

γG(x−y, t)
�
� ��� �����/����2 γ>� �� ��
����� 
� �
� �
��
����
� 
� !�������:�� ������
� ��� �����
ϕ ∈ D(Q̄T )  � 
�����

∂
∂τ

T∫
τ

G(x− y, t− τ)ϕ(x, t)dt = ∂
∂τ (G(x− y, t− τ)∗̂ϕ(x, τ) =

= G(x − y, t− τ)∗̂∂ϕ(x,τ)∂τ =
T∫
τ

G(x− y, t− τ)∂ϕ(x,t)∂t dt

=��� �
����
��� ( ∂∂τ )
γ0

∫
QT

G(x−y, t−τ)ϕ(x, t)dxdt = ∫
QT

G(x−y, t−τ)( ∂∂t )γ0ϕ(x, t)dxdt>�
8� ������� �
�������� 
� ������
�� Dγ

xD
γ0
t ϕ(x, t) 
� Q̄T �
� ��� γ0 ∈ Z+ ��� �����/����2

γ� �� �� ��
�!
 �
 ���
������� �
� ����
�� �
����!���� 
� �
� ����!����

T∫
τ

dt

∫
Ω

|G(x − y, t− τ)|dx,
T∫
τ

dt

∫
S

|G(x − y, t− τ)|dSx, =�1>

T∫
τ

dt

∫
S

∣∣∣∂G(x− y, t− τ)

∂νx

∣∣∣dSx. =��>

8� %��& �
� ������
��� 
� �
� H/������
�� �� �
���������� F���! �
� �����:���
� 
�
�
� �
�����
�� =����@> ��� =��0�,> ��
� �
��  
�# �
� 
�������! 
� �
� ��������� 
� �
�
H/������
��  � ����� �
� �
�
����� ���7�, %��&B∣∣∣Hq,0

p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

) ∣∣∣ ≤ C|z|
μ+1

2
Δ∗ e−h|z|

1
Δ∗

�
� ���� z → ∞, =�@>

 
��� μ =
q∑
j=1

bj −
p∑
i=1

ai +
p−q
2 � C ��� h = h(a, β) ��� �
������ �
�������� -���
��  �

���
�� �� P, Ĉ, c, Ci, C
∗
i , C

′
i, ci, c

′
i, ĉi, c

∗
i =i = 0, 1, 2, 3> �
�� �
������ �
��������
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������ ���	
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��� ������ ���	
���

�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

F���! =�,> ��� =�0>  � ��� μ + 1
2 = N

2 + 1 − β �
� G� μ + 1
2 = N

2 + 2 − β �
�
∂G
∂ν � Δ

∗ = 2− β �
� �
�
 ������ 	
�� �� =�@>  � !�� �
� �
��
 ��! ���������B

|G(x, t)| ≤ Ĉtβ−1

|x|N ·
( |x|2
tβ

)N+2−2β
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C0

t1−β|x|N �
� |x|2 > tβ , =��>

∣∣∂G(x, t)
∂ν

∣∣ ≤ Ĉtβ−1

|x|N+1
·
( |x|2
tβ

)1+ N
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C1

t1−β |x|N+1
�
� |x|2 > tβ . =�H>

I� �
�
����� ��
� �
�
��� ���, %��& �
� �
��
 ��! ���������
∣∣∣Hm,n

p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

) ∣∣∣ ≤ C|z|�|logz|N∗−1, z → 0 =��>



��  
��� � = min
1≤j≤m

Rebj
βj
� N∗ �� �
� !������� 
���� 
� �
� �
��� bjl =

−bj−l
βj

� 1 ≤ j ≤ m�

l = 0, 1, . . . 
� �
� ������
� Γ(bj + βjs)�

;� ��� � = min{1, N2 } = 1 �
� N ≥ 2 =� = 1/2 �
� N = 1> ��� !��

|G(x, t)| ≤ C∗
0

t|x|N−2
,

∣∣∣∂G(x, t)
∂ν

∣∣∣ ≤ C∗
1

t|x|N−1
, �
� |x|2 < tβ =,7>

�� �
� ���� 
� �
� ������ �
��� bjl =�
�� �� N ≥ 3>�

|G(x, t)| ≤ C∗
0

t
ln
tβ/2

|x| ,
∣∣∣∂G(x, t)

∂ν

∣∣∣ ≤ C∗
1

t|x| ln
tβ/2

|x| , �
� |x|2 < tβ , N = 2.

(
  � ��� ��
�� �
� ����
�� �
����!���� 
� ����!���� =�1>�=��>� "�� �
� ��� (y, τ) ∈
Q̄T � ε > 0

QT,ε(y, τ) = QT,ε = {(x, t) ∈ Q̄T : |x− y| < ε, 0 < t− τ < ε2/β}�
Q1T,ε(y, τ) = Q1T,ε = {(x, t) ∈ Q̄1T : |x− y| < ε, 0 < t− τ < ε2/β}�
	
�� �� �
� ���� N ≥ 3� �
� ��� (y, τ) ∈ Q̄T � ε > 0 �
� �
������ =��>� =�H>� =,7>

����� �
��
 ��! ��������� ���������∫
QT,ε(y,τ)

|G(x− y, t− τ)|dxdt ≤
∫

(x,t)∈QT,ε:|x−y|2<(t−τ)β
|G(x − y, t− τ)|dxdt+

+

∫
(x,t)∈QT,ε:|x−y|2>(t−τ)β

|G(x− y, t− τ)|dxdt ≤

≤ C∗
0

ε2/β∫
0

dt

t

∫
x∈Ω:|x−y|2<tβ

|x− y|2−Ndx+ C0

ε2/β∫
0

dt

t1−β

∫
x∈Ω:tβ<|x−y|2<ε2

|x− y|−Ndx ≤

≤ c0

ε2/β∫
0

[t−1

tβ/2∫
0

rdr + tβ−1

ε∫
tβ/2

r−1dr]dt ≤ c∗0ε
2,



 ! �"!#!�$ $!%& '�()*+! (� ,!% -(�. /(�%$ 0�!,�$# ���
���� �����	�

� �
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� ��������� ���	� ������ �� !!

∫
Q1T,ε(y,τ)

|G(x− y, t− τ)|dSxdt ≤ c0

ε2/β∫
0

[t−1+ β
2 + tβ−1(t−β/2 − ε−1)]dt ≤ c∗0ε,

∫
Q1T,ε(y,τ)

∣∣∂G(x− y, t− τ)

∂νx

∣∣dSdt ≤ C∗
1

ε2/β∫
0

dt

t

∫
x∈S:|x−y|2<tβ

|x− y|1−N+sdS+

+C1

ε2/β∫
0

dt

t1−β

∫
x∈S:tβ<|x−y|2<ε2

|x− y|−N−1+sdS ≤

≤ c1

ε2/β∫
0

[t−1

tβ/2∫
0

rs−1dr + tβ−1

ε∫
tβ/2

rs−2dr]dt ≤

≤ c′1

ε2/β∫
0

[t−1+ sβ
2 + tβ−1(t(s−2)β/2 − εs−1)]dt ≤ c∗1ε

s.

A��� s ∈ (0, 1) 9 ��

�
���� 
� ������� S �� ��#�� ���
 �
���������
�� ;� !�� �������
������� �� �
� ���� N = 2 ��� �
� G0 ������� 
� G�

����� �� E'/ 2/;
)/2/% ϕ ∈ D(Q̄T ) )*+/+ +G
#)# ψ ∈ X(Q̄T ) #31* )*2)

(L̂ψ)(x, t) = ϕ(x, t), (x, t) ∈ QT .

������ J� �� %��&  � �

 �
�� �
� ������
�

ψ(y, τ) =

T∫
τ

dt

∫
Ω

G0(x− y, t− τ)ϕ(x, t)dx

�� ��������

����� "� G1(x− y, t) = ∂G0(x−y,t)
∂νy

? (x, t) ∈ QT ? (y, τ) ∈ Q1T ?

G2(x, t) = f1−β(t) ∗G0(x, t)? (x, t) ∈ QT �

������ 8� �
��
 � ��
� =H> ��� =�> �
�� �
� ��� ψ ∈ X(Q̄T )� (y, τ) ∈ Q1T

T∫
τ

∫
Ω

∂G0(x− y, t− τ)

∂νy
(L̂ψ)(x, t)dxdt =

T∫
τ

∫
Ω

G1(x− y, t− τ)(L̂ψ)(x, t)dxdt =
∂ψ(y, τ)

∂νy
,

 
����
T∫
τ

∫
Ω

[∂G0(x− y, t− τ)

∂νy
−G1(x− y, t− τ)

]
(L̂ψ)(x, t)dxdt = 0.
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�

���� �����	�

� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

I� ����� 0� �
� ����� ϕ ∈ D(Q̄T )� �
��� �2���� �
� ������
� ψ ∈ X(Q̄T ) ���
 �
��

L̂ψ = ϕ �� QT � 	
��

T∫
τ

∫
Ω

[∂G0(x − y, t− τ)

∂νy
−G1(x− y, t− τ)

]
ϕ(x, t)dxdt = 0 ∀ϕ ∈ D(Q̄T ).

I� #�
 � ����� 
� G� I
��/<���
��  � !�� �
� ���� �
����� �� �������
� 
� ������
;� 
����� �
� ���
�� �
����� �� �������
� 
� ����� ������
������ ��
� �
������ =H> ���
=�7>�

(
��� �
�� �� ����� 
� -
����� �
 � 
� ��!�� 
��
�
���� ������
�� ωm(y) =m =
1, 2, . . . > 
� �
� .����/"�
����� ��
����

Δωm + λmωm = 0, y ∈ Ω, ωm(y) = 0, y ∈ ∂Ω

 � ��� �
� ���� 3���� ������
�

G0(x− y, t− τ) = (t− τ)β−1
∞∑
m=0

Eβ(−λma2(t− τ)β)ωm(x)ωm(y)

 
��� Eβ(z) = Eβ−1(z, β) =
∞∑
p=0

zp

Γ(pβ+β) 9 '����!/"�K�� ������
� %�& 
����! �
� ��������

Eβ(−a2λm(t− τ)β) ≤ C
1+a2λm(t−τ)β �

����� '� E'88'D
$6 <2::
$6#

Ĝ0 : D(Q̄T ) → X(Q̄T ), Ĝ1 : D(Q̄T ) → C∞,(0)(Q̄1T )? Ĝ2 : D(Q̄T ) → C∞(Ω̄)
*'89�

������ � 8� �
��
 � ��
� ������ , ��� 0 �
�� Ĝ0 : D(Q̄T ) → X(Q̄T )� I� ����� 1

G1(x − y, t) = ∂G0(x−y,t)
∂νy

� (x, t) ∈ QT � (y, τ) ∈ Q1T � "�� G̃1(x − y, t) = ∂G(x−y,t)
∂νy

�

(x, t) ∈ QT � (y, τ) ∈ Q1T � 8� �
��
 � ��
� =�H> ��� =,7> �
��

|G̃1(x− y, t)| ≤ C1

t1−β |x− y|N+1
�
� |x− y|2 > tβ ,

|G̃1(x− y, t)| ≤ C∗
1

t|x− y|N−1
, �
� |x− y|2 < tβ , N ≥ 3,

|G̃1(x− y, t)| ≤ C∗
1

t|x− y| ln
tβ/2

|x− y| , �
� |x− y|2 < tβ , N = 2

��� �
� ������� ��������� �
� G1(x− y, t) 

���
;� ��� ������
� G2(x, t) ����! ����� 1 ��� ��
������� 
� �
� H/������
��� I���!

�
�� G2(x, t) = f1−β(t) ∗ G0(x, t)� G̃2(x, t) = f1−β(t) ∗ G(x, t)�  � ��� �
� ��
����� =->
=�� ������
�> ��
�� ������
��� ��5���������
� 
� �
� H/������
� ���
����! �
� �2������
�
=�,> ���
�� ���

I������ �� 
�� ���� =n = 0> �
� �
�����
� =����@> 

�� ���
���������� �
� ��
�����

=G> =�� ������
�> �
� λ = |x|2
4a2 �������

G(x, t) = π−N/2tβ−1

|x|N
|x|2
4a2

∞∑
k=0

1
k! (1− |x|2

4a2 )
kH2,0

1,2

(
1
tβ

∣∣∣ (β, β)
(1 + k, 1) (N/2, 1)

)
.

F���! ��
����� =4> =�� ������
�> 
� �
� A/������
��  � !��
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� ()(

G(x, t) = π−N/2tβ−1

4a2|x|N−2

∞∑
k=0

1
k! (1 − |x|2

4a2 )
kH0,2

2,1

(
tβ
∣∣∣ (−k, 1) (1−N/2, 1)
(1 − β, β)

)
.

J� ����� �� ��
����� =->�  � ��� �
��

G̃2(x, t) =
π−N/2

4a2|x|N−2

∞∑
k=0

1
k! (1− |x|2

4a2 )
kH0,3

3,2

(
tβ
∣∣∣(1− β, β) (−k, 1) (1 −N/2, 1)
(1− β, β) (0, β)

)
�

F���! ��
������� =I> ��� =4> 
� �
� A/������
��  � ���
�� �
�� �2������
� �
 ���
�
��
 ��!

G̃2(x, t) =
π−N/2

4a2|x|N−2

∞∑
k=0

1
k! (1 − |x|2

4a2 )
kH0,2

2,1

(
tβ
∣∣∣(−k, 1) (1−N/2, 1)
(0, β)

)
=

= π−N/2

4a2|x|N−2

∞∑
k=0

1
k! (1− |x|2

4a2 )
kH2,0

1,2

(
1
tβ

∣∣∣ (1, β)
(1 + k, 1) (N/2, 1)

)
,

��� ������� �� ��
����� =G>�  � 
����� �
�� G̃2(x, t) �� !���� ��

G̃2(x, t) =
π−N/2

|x|N H2,0
1,2

( |x|2
4a2tβ

∣∣∣(1, β)
(1, 1) (N/2, 1)

)
. =,�>

.���� Δ∗ = 2 − β� �� �
��
 � ��
� �
� �
�
��� ��� %��& �
�� �
� ������
�� G̃2(x, t)
��� G2(x, t) �2��� �
� ��� x �= 0� t > 0�

(
�� �
�� ������
� =,�> �� ���
 �� �
��������� �� %0& ��� ���
 %�@& 3���� ������
� 
�
�
� 4���
� ��
���� �
� �
� ������
�  ��
 ��!������! �����������

J� �� ��

� 
� ����� ,� �� ������� �
�������� 
� ������
�� Dγ
xD

γ0
t ϕ(x, t)� (x, t) ∈ Q̄T

�
� ��� γ0 ∈ Z+ ��� �����/����2 γ� �� ������� �
 ���
������� �
� ����
�� �
����!���� 
�
����!����∫
QT

|G̃i(x− y, t)|dxdt,
∫
Q1T

|G̃i(x− y, t)|dSdt, i = 1, 2,

∫
Q1T

∣∣∣∂G̃2(x− y, t)

∂νx

∣∣∣dSdt.

I� ��
����� =)> 
� �
� ��5���������
� 
� �
� A/������
�  � !��

∂G̃2(x, t)

∂νx
= − π−N/2

|x|N+1
H3,0

2,3

( |x|2
4a2tβ

∣∣∣ (1, β) (N, 2)
(N + 1, 2) (1, 1) (N/2, 1)

) N∑
j=1

xjνj(x)

|x| . =,,>

;� ��� μ+ 1
2 = N

2 �
� �
� A/������
� �� =,�>� μ+ 1
2 = N

2 + 1 �
� �
� A/������
�
�� =,,>� 	
�� �� �������� =�@>  � !��

|G̃2(x, t)| ≤ C

|x|N ·
( |x|2
tβ

) N
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C2

|x|N �
� |x|2 > tβ ,

|∂G̃2(x, t)

∂νx
| ≤ C

|x|N+1
·
( |x|2
tβ

) N+2
2(2−β)

e
−h

(
|x|2
tβ

) 1
2−β

≤ C3

|x|N+1
�
� |x|2 > tβ ,

��� �� �������� =��> �
� |x|2 < tβ

|∂G̃1(x, t)

∂νx
| ≤ C′

1

t|x|N , |G̃2(x, t)| ≤ C∗
2

tβ|x|N−2
, |∂G2(x, t)

∂νx
| ≤ C∗

3

tβ|x|N−1
�� N ≥ 3,
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ ��

|∂G̃1(x, t)

∂νx
| ≤ C′

1

t|x|2 ln
tβ/2

|x| , |G̃2(x, t)| ≤ C∗
2

tβ
ln
tβ/2

|x| ,

|∂G̃2(x, t)

∂νx
| ≤ C∗

3

tβ |x| ln
tβ/2

|x| �� N = 2.

(
 � �� �� ��

� 
� ����� ,� �� �
� ���� N ≥ 3  � ��� �
��
 ��! ���������B∫
QT,ε(y,τ)

|G̃1(x− y, t− τ)|dxdt ≤
∫

(x,t)∈QT,ε:|x−y|2<(t−τ)β
|G̃1(x− y, t− τ)|dxdt+

+

∫
(x,t)∈QT,ε:|x−y|2>(t−τ)β

|G̃1(x− y, t− τ)|dxdt ≤

≤ C∗
1

ε2/β∫
0

dt

t

∫
x∈Ω:|x−y|2<tβ

|x− y|1−Ndx + C1

ε2/β∫
0

dt

t1−β

∫
x∈Ω:tβ<|x−y|2<ε2

|x− y|−N−1dx ≤

≤ c1

ε2/β∫
0

[t−1

tβ/2∫
0

dr + tβ−1

ε∫
tβ/2

r−2dr]dt ≤ c∗1ε ∀(y, τ) ∈ Q1T ,

∫
QT,ε(y,0)

|G̃2(x− y, t)|dxdt ≤

≤ C∗
2

ε2/β∫
0

t−βdt
∫

x∈Ω:|x−y|2<tβ
|x− y|2−Ndx+ C2

ε2/β∫
0

dt

∫
x∈Ω:tβ<|x−y|2<ε2

|x− y|−Ndx ≤

≤ c2

ε2/β∫
0

[t−β
tβ/2∫
0

rdr +

ε∫
tβ/2

r−1dr]dt ≤ c′2

ε2/β∫
0

[1 + ln
ε

tβ/2
]dt ≤ c∗2ε

2/β ∀y ∈ Ω̄,

∫
Q1T,ε(y,τ)

|G̃1(x− y, t− τ)|dSxdt =
∫

Q1T,ε(y,τ)

|∂G(x− y, t− τ)

∂ν
|dSxdt ≤ c∗1ε

s

∀(y, τ) ∈ Q̄T , s ∈ (0, 1)

=��� ��

� 
� ����� ,>�

∫
Q1T,ε(y,0)

|G̃2(x− y, t)|dSxdt =
ε2/β∫
0

dt

∫
S

|G̃2(x− y, t)|dSx ≤

≤ c

ε2/β∫
0

[

∫
x∈S:|x−y|2<tβ

|G̃2(x− y, t)|dS +

∫
x∈S:tβ<|x−y|2<ε2

|G̃2(x− y, t)|dS]dt ≤
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� �
���� ���
�� ������ ���
� ��������� ���	� ������ �� ()"

≤ c

ε2/β∫
0

[C∗
2 t

−β
∫

x∈S:|x−y|<tβ
|x− y|2−NdS + C2

∫
x∈S:tβ<|x−y|2<ε2

|x− y|−NdS]dt ≤

≤ ĉ2

ε2/β∫
0

[1 + t−β/2 − ε−1]dt ≤ c∗2ε
1
β−1 ∀y ∈ Ω̄,

∫
Q1T,ε(y,0)

|∂G̃2(x− y, t)

∂νx
|dS ≤

≤ C∗
3

ε2/β∫
0

[t−β
∫

x∈S:|x−y|2<tβ
|x− y|1−Ndx+ C3

∫
x∈S:tβ<|x−y|2<ε2

|x− y|−1−Ndx]dt ≤

≤ c3

ε2/β∫
0

[t−β
tβ/2∫
0

rs−1dr +

ε∫
tβ/2

rs−3dr]dt ≤ c∗3ε
2(1−β)

β +s, ∀y ∈ Ω̄, s ∈ (0, 1), ε > 0.

;� !�� ������� ������� �� �
� ���� N = 2�

'� ()� �������
� ��� 	��*	����� �)������

()����� �� .$9+/ #3::'#
)
'$ =,> )*+ 3$
73+ #'83)
'$ u ∈ D′(Q̄T ) '( )*+ :/';8+< =�>?
=�> +G
#)#� �) 
# 6
-+$ ;% )*+ ('/<382

(u, ϕ)QT = (F, Ĝ0ϕ)0 + (F1, Ĝ1ϕ)1 + (F2, Ĝ2ϕ)2 ∀ϕ ∈ D(Q̄T ). =,0>

������ 8� �
��
 � ��
� ����� � �
��

Ĝ0ϕ ∈ X(Q̄T ), Ĝ1ϕ ∈ C∞,(0)(Q1T ), Ĝ2ϕ ∈ D(Ω̄) ∀ϕ ∈ D(Q̄T ).

.
� �
� ��!
�/
��� ���� �� �
����� =,0> ��#�� ����� ��� �
� ������
� u ∈ D′(Q̄T ) ��
������ �� =,0>�

.����������! �
� ������
� =,0> ���
 �������� =0>� ����! ����� ��  � �

 �
�� �
�
������
� =,0> �������� �
� ��
���� =�>� =,>B

(u, L̂ψ)QT = (F, Ĝ0(L̂ψ))0 + (F1, Ĝ1(L̂ψ))1 + (F2, Ĝ2(L̂ψ))2 =

= (F, ψ)0 + (F1,
∂ψ
∂ν )1 + (F2(x),

T∫
0

f1−β(t)ψ(x, t)dt)2 ∀ψ ∈ X(Q̄T )�

"�� u1, u2 �� �
����
�� 
� �
� ��
���� =�>� =,>� 8� �
��
 � ��
� �
� �
����
�L� �������
�
�
�� ������
� u = u1 − u2 �������� �
� �
�����
�

(u, L̂ψ)QT = 0 ∀ψ ∈ X(Q̄T )�

I� ����� 0� �
� ����� ϕ ∈ D(Q̄T )� �
��� �2���� ������
� ψ ∈ X(Q̄T ) ���
 �
��

L̂ψ = ϕ �� Q̄T � 	
��� ��
� �
� �����
�� ��������� (u, ϕ)QT = 0 �
� ����� ϕ ∈ D(Q̄T )�
�
�� �� u = 0 �� D′(Q̄T )� 	
� �
�
��� �� ��
����
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� �
 �
� ������
�

u
(β)
t −

n∑
j=1

bju
(α)
xj

= F (x, t), (x, t) ∈ Ω× (0, T ]

 ��
 ������� <������/"�
������ ������
��� ����������� u
(α)
xj ��� �
������ �
�6������ bj �

j = 1, n ����� �
� �
�����
�
n∑
j=1

bjp
α
j ≥ C0 �
� ��� p ∈ Rn, |p| = 1 =�
� ��������� 
� �
�

����������� �
����
��  ��� !���� �� %��&> ��� ���
 �
 �
� ������
�

u
(β)
t + a2(−Δ)α/2u = F (x, t), (x, t) ∈ Ω× (0, T ]

 
��� �
� ������
��� �/�������
��� "������ 
�����
� (−Δ)α/2 �� ������ �� ��� -
�����
������
��B F[(−Δ)α/2ψ(x)] = |λ|αF[ψ(x)]�

;� ��� ���
 ����� �
� !�������:�� �
������ ����� ������! 
� �
�����
����!
��
����� �
� ����/������ ������
��

u
(β)
t (x, t)− a2Δu(x, t) = f(x, t, u(x, t)), (x, t) ∈ Ω× (0, T ]

�� �
� ���

�� 
� %�H&�
.� 
�������� A���  � ������ �
�� ��
������� 
� �
� A/������
� 
� -
2

Hm,n
p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
:= H(z)

��
� %��&  
��
  ��� ������� �� �����
�� �����
��� ;� 
���

H(z) =

∫
C

H(s)z−sds,

 
���

H(s) =
Πmj=1Γ(bj + βjs)Π

n
i=1Γ(1− ai − αis)

Πqi=n+1Γ(ai + αis)Π
p
j=m+1Γ(1− bj − βjs)

,

z−s = exp[−s(log|z|+ iargz)], z �= 0, i2 = −1,

C �� ������� �
��
��  
��
 ��������� ��� �
� �
��� bjl =
−bj−l
βj

� 1 ≤ j ≤ m� l = 0, 1, . . . 
�

�
� ������
�� Γ(bj+βjs) �
 �
� ���� ��� ��� �
� �
��� aik = 1−ai−k
αi

� 1 ≤ i ≤ n� k = 0, 1, . . .


� �
� ������
�� Γ(1 − ai − αis) �
 �
� ��!
� =����� ����
����
� �
�� �
��� �
��� �
 �
�
�
������>�

�
� 9 �������	 
�� %��&� 	
� H/������
� �� ��������� �� �
� ��� 
� ����� (a1, α1)�
� � � � (an, αn)M �� (an+1, αn+1), . . . , (ap, αp)M �� (b1, β1), . . . , (bm, βm) ��� ��
(bm+1, βm+1), . . . , (bq, βq)�

�/� 9 �������	 
�
 %��&� -
� n ≥ 1� q ≥ m
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� �
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Hm,n
p,q

(
z
∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq−1, βq−1) (a1, α1)

)
=

= Hm,n−1
p−1,q−1

(
z
∣∣∣(a2, α2) . . . (ap, αp)
(b1, β1) . . . (bq−1, βq−1)

)
.

�0� 9 �������	 
�� %��&�

Hm,n
p,q

(
1
z

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
= Hn,m

q,p

(
z
∣∣∣(1− b1, β1) . . . (1 − bq, βq)
(1− a1, α1) . . . (1 − ap, αp)

)
.

�!� 9 �
����� 
�� %��&� -
� ��� λ ∈ C� m > 0 ��� ����� �
�����
� =����@> 
� �
��
 
�#�

Hm,n
p,q

(
λz

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)
=

= λ
b1
β1

∞∑
k=0

1
k! (1 − λ

1
β1 )kHm,n

p,q

(
z
∣∣∣ (a1, α1) . . . (ap, αp)
(b1 + kβ1, β1) . . . (bq, βq)

)
�

�1� 9 �������	 
�� %��& ����� �
� ��������������� -
� ω, c ∈ C� σ > 0� k = 0, 1, . . .

( ddz )
k
[
zωHm,n

p,q

(
czσ

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)]
=

= zω−kHm,n+1
p+1,q+1

(
czσ

∣∣∣(−ω, σ) (a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq) (k − ω, σ)

)
=

= (−1)kzω−kHm+1,n
p+1,q+1

(
czσ

∣∣∣ (a1, α1) . . . (ap, αp) (−ω, σ)
(k − ω, σ) (b1, β1) . . . (bq, βq)

)
�

�,� 9 �
����� 
�� %��& ����� ���������� ��������������� -
� a∗ > 0� σ min
1≤j≤m

[
Rebj
βj

] +

Reω > −1� � > 0

f�(z) ∗
[
zωHm,n

p,q

(
zσ

∣∣∣(a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq)

)]
=

= zω+�Hm,n+1
p+1,q+1

(
zσ

∣∣∣(−ω, σ) (a1, α1) . . . (ap, αp)
(b1, β1) . . . (bq, βq) (−ω − �, σ)

)
.
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<DKLBLFD YLDCL`? 
]F?KJFFA YJ tB=FD]Y
� DBLCmJFD @DECJmLFFA @J BD�
HD`DGDn KLIYDC�>?FI^
u oC
FJ CD@KqA@I? @JBJe


u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const

u(x, t) = F1(x, t), (x, t) ∈ ∂Ω× (0, T ], u(x, 0) = F2(x), x ∈ Ω

@ BCDEDKDn HDk
BFDn i
`JFJ�s
?K
ZZA u
(β)
t HDCABI? β ∈ (0, 1) YJ F � F1� F2


@ HCD]YDC
K ?@JGJZ[FLF=k >?FI^
_ D′�

4La65M� NL5MC, HDk
BFJ BCDEDKDGD HDCABI?� ?@JGJZ[FLFJ >?FI^
A� ICJ�
_DKJ @JBJeJ� KLIYDC�>?FI^
A oC
FJ�

+,-.+-/-.+L, 0/1,3L, 41.15A .67 ?/13+,+A2
= ./-9+-2 ;/-A43-.+-2 3 ;/-=>/1+=>31<

-9-9M,++L< B?+0CA2

1DEFNG 6-;?H1+=0A21� @IJKDI 6-;?H1+=0172

1bFNXKX7X [CX9[CXKRK� c9D5MNRK: 7FKM9BNKX9X�

CL� \9:XCFC� �� �� c9D5M� � !" "� T5LVDC
2PVM5MNRK: FC^K5FCLVF�: 7FKM9BNKX9X K[9FK bMCFC _BCFR5�
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<DIJ@JFJ YLDCL`J ]?dL]YKDKJF=A = LB=F]YKLFFD]Y=� HDZ?eLFD HCLB�
]YJKZLF=L ] HD`Dd[n KLIYDC�>?FI^== oC=FJ CLfLF=A @JBJe=

u
(β)
t (x, t)− a2Δu(x, t) = F (x, t), (x, t) ∈ Ω× (0, T ], a = const

u(x, t) = F1(x, t), (x, t) ∈ ∂Ω× (0, T ], u(x, 0) = F2(x), x ∈ Ω

] BCDEFD_ HCD=@KDBFD_ i=`JFJ�s=?K=ZZA u
(β)
t HDCABIJ β ∈ (0, 1) = F � F1�

F2 =@ HCD]YCJF]YK DEDEdLFF\k >?FI^=_ D′�

4La69Md9 NL5MC, HCD=@KDBFJA BCDEFDGD HDCABIJ� DEDEdLFFJA >?FI^=A�
ICJLKJA @JBJeJ� KLIYDC�>?FI^=A oC=FJ�


